KEY - SIG.FIG. PRACTICE 1 (#4 of 5)

1) 4 non zeroes; terminal zeroes after the decimal are s.f.

2) 3 non zeroes; terminal zero ending in a decimal point which
makes it a s.f.

3) 3 non zeroes; terminal zero without a decimal not a s.f.

4) 4 non zeroes; s.f. sandwich 306; terminal zero after decimal

isas.f.
5) 2 both non zeroes (- sign doesn’t matter)
6) 988,760
7) 988,800
8) 989,000
9) 990,000
10) 1,000,000
11) (180.072) 180.07  addition

12) (16.199538) 16.200  division
13) (8137.044) 8 137.04 subtraction

14) (107.478) 110 multiplication
15)  (122.28) 122 addition

16) 70

17) 0.00123

18) 50,607,080 (no change)
19) 50,607,100
20) 4.0



